100 BEE [FEASHARHAL] SRS ERIUBE(—RE)
B R ER AR A e
A5 BESE | BIRE !sz;%
S AEHREY =SRART
SEuEN |
mED
- . 1A+1B+3B
Bl R & 5 Bl SR 43 43 416 52.9 (1A4B)
e 4B1C
ZETEAR 68 68 844 50.9 (4B10)
I 1B++2B+2B
RigERIEIER 73 73 890 50.4 (5B)
o 1B++3B+1B
THESER 63 63 721 51.9 (5B)
N 1B++1B+2B1C
FEFAZERER 41 41 383 52.9 (4B1C)
o 1A+1B+3B
FERBER 30 30 428 52.9 (1A4B)
- 4B+1B
ﬁaﬂéﬁﬂ 39 39 771 514 (SB)
. - 1B++2B+1B1C
BRIER 69 69 824 50.9 (4B1Q)
- 1A3B++1C
IR 56 56 246 534 (1A3B10)
. s 1B+4B
B EREEN 31 31 481 524 (5B)
R 1B++3B+1B
= 542 542






